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12. Write the interval notation of this domain in set notation.

a (~»,8)U(12,)

Set Notations: Ml)_giu > iZ3

D:§xe® xz-43

O gxem) x# %3, Do HEY

D [z4,00)

D ixe®RIx>3d , »: (-3,00)

b ‘2x&@l><?_7.3, D" E?-:CO)

b.(—3,1)

Set Notations: 7 X_& (R 1 2 £X <13

For problem 13-14, please give the name of the parent function and describe the transformation represented. Then sketch

the graph of the given function.
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Give the parent function and wnte the equation of the transformation function f{x)
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In problems 18-19, the transformation of a parent functiof is shown Al graphs have been only vertically
translated, honzontally translated, and/or reflected over the x-axis. Write the equation of each function

18,

20. Given f{x) = 22 — x, find the followmg and simphify.

@) Ax +h)
= 2x m\Z— (x+h) v
2 20 2w )= (x+h)

= 25314 xR 4 LhE=X ~ b

1
% 25 =X +4%h—h 2N

W

). Ax+h) - fx)

21 Given C(x) = 2x* —4x +3,f

Clxew) = 20xtW -Y(x ¥h

= QLRIW'L(‘M\\J') -4y -yntrd
= W xn 420 -4 S

Q@_«i«\_\%’_-_t_‘-ﬁtﬁ "

Py o)

ZxtHn Y= X

g,j,%i‘;ﬁ‘ﬂé

., Mlxr2h=t)

p—

ind and simpltfy <05,

4xns2it=4h

h
L= Yy b b
25Xy ;[-ﬁ( A

2
\‘th nyen™!|  Hxh-htih”

- Y%=l +2n)
" (;/X"'*Zb_ ﬂ

Y 42 - (l}( -—-"‘“(hs)

—

M

Perform the indicated operation.
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State If the given fanctions are Inverses.
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Find the lavecse of each function, Then graph the function and its laverse.
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